
159/20-22 ถ.วภิาวดรัีงสติ แขวงตลาดางเขน เขตหลักสี ่กรงุเทพฯ โทร.02-551-1021, 02-551-1137-42 

    E-mail : info@worldtractor1996.com, www.worldtractor1996.com, www.facebook.com/worldtractor1996 

To fulfill your complete source of property class 12.9 from OEM of Japan  
of Track Bolts, Plow Bolts, Segment Bolts & Nuts for Bulldozers and Excavator 

BOLTS & NUTS 



159/20-22 ถ.วภิาวดรัีงสติ แขวงตลาดางเขน เขตหลักสี ่กรงุเทพฯ โทร.02-551-1021, 02-551-1137-42 

    E-mail : info@worldtractor1996.com, www.worldtractor1996.com, www.facebook.com/worldtractor1996 

BOLTS & NUTS (คา่ความแข็ง 12.9) 

Item Part no. Description Size 

1 M16 x 2.0 x 80 
BOLT,ROLLER 311, 312, E110B, E120B,UH052, 
PC200-3, EX200 

WASHER HEAD 

2 M18 x 1.5 x 80 BOLT,ROLLER SK200 WASHER HEAD 

3 M18 x 2.5 x 85 BOLT,ROLLER EX200-2, EX220-2, E300B WASHER HEAD 

4 M20 x 2.5 x 100 
BOLT,ROLLER 320, 325, EX300, PC300-5, PC300-
6, SE280 

WASHER HEAD 

5 M22 x 2.5 x 110 BOLT,ROLLER SE350, PC400, EX400 WASHER HEAD 

6 M24 x 3.0 x 110 BOLT,ROLLER 330 WASHER HEAD 

7 3S 8182/7H 3607 BOLT,SEGMENT 5/8 X 1 7/8   UNF 5/8 X 1 7/8'UNF 

8 6V 0937/7H 3607 BOLT,SEGMENT 5/8 x 2 1/8"  UNF 5/8 x 2 1/8"UNF 

9 7H 3597/1M 1408 BOLT/NUT,TRACK D4,D5 (SHORT) 5/8 x 2 3/32" UNF 

10 5A 4104/1M 1408 BOLT/NUT,TRACK D4,D5 (LONG) 5/8 x 3 1/2" 

11 4K 7038/7K 2017 BOLT/NUT,TRACK D4 (SHORT) 9/16 x 1 3/4" UNF 

12 5A 3187/7K 2017 BOLT/NUT,TRACK D4 (LONG) 9/16 x 3 1/8" UNF 

13 9G 3110/1M 1408 BOLT/NUT,TRACK D5H (SHORT) 5/8 x 2 1/4" (16.50 MM.) 

14 3T 3884/1M 1408 BOLT/NUT,TRACK D5H (LONG) 5/8 x 3 1/2" (16.50 MM.) 

15 107-0718/1S 1860 BOLT/NUT,TRACK  D5H-HD,D6M (LONG) 3/4 x 3 5/8" (20 MM.) 

16 6V 1792/1S 1860 BOLT/NUT,TRACK D6H (SHORT) 3/4 x 2 3/8" (20 MM.) 

17 6T 2162/1S 1860 BOLT/NUT,TRACK D6H (LONG) 3/4 x 4 1/8" (20 MM.) 

18 1S 1859/1S 1860 BOLT/NUT,TRACK D6C (SHORT) 3/4 x 2 1/8" (19 MM.) 

19 5A 7524/1S 1860 BOLT/NUT,TRACK D6C (LONG) 3/4 x 4" (19 MM.) 

20 7H 3598/1S 1860 BOLT/NUT,TRACK D7G 3/4 x 2 3/8" (19 MM.) 

21 201-32-51210 BOLT/NUT,TRACK PC60-6 M14 x 1.5 x 35 HEX 

22 101-32-11210 BOLT/NUT,TRACK D20 M12 x 1.5 x 39 HEX 

23 101-820-05001 BOLT/NUT,TRACK D20 M12 x 1.5 x 47 HEX 



159/20-22 ถ.วภิาวดรัีงสติ แขวงตลาดางเขน เขตหลักสี ่กรงุเทพฯ โทร.02-551-1021, 02-551-1137-42 

    E-mail : info@worldtractor1996.com, www.worldtractor1996.com, www.facebook.com/worldtractor1996 

BOLTS & NUTS (คา่ความแข็ง 12.9) 

Item Part no. Description Size 

24 130-32-05001 BOLT/NUT,TRACK D50 M16 x 1.5 x 57 (M16 X 1.5 X 24/23.7 x 19.6) HEX 

25 135-32-05001 BOLT/NUT,TRACK D60-3,PC200-3 M18 x 1.5 x 57 (M18 x 1.5 x 27/26.5 x 22) SQR/TAPER 

26 203-32-05010 BOLT/NUT,TRACK PC120-3 M14 x 1.5 x 48 (M14 X 1.5 X 22 x 16) HEX 

27 203-32-51210/20 BOLT/NUT,TRACK PC120-5 M16 x 1.5 x 48 (M16 x 1.5 x 24/23.7 x 19.6) SQR/TAPER 

28 203-32-51210/20 BOLT/NUT,TRACK PC120-5 M16 x 1.5 x 48 (M16 x 1.5 x 24/23.7 x 19.6) HEX 

29 20Y-32-11210 BOLT/NUT,TRACK PC200-5 M20 x 1.5 x 55F (M20 x 1.5 x 30 x 22) HEX 

30 207-32-11340 BOLT/NUT,TRACK PC300-3 M20 x 1.5 x 65 (M20 X 1.5 X 28.3/27.8 x 22) SQR/TAPER 

31 207-32-51210/20 BOLT/NUT,TRACK PC300-5 M22 x 1.5 x 56F (M22 x 1.5 x 31.4/31.2 x 22) SQR/TAPER 

32 208-32-51210/20 BOLT/NUT,TRACK PC400 M24 x 1.5 x 65F (M24 x 1.5 x 34.6/34.4 x 24) SQR/TAPER 

33 2420Z1292/93 BOLT/NUT,TRACK SK200 M20.5 x 1.5 x 55F (M20 x 1.5 x 28.3/27.8 x 22) SQR/TAPER 

34 1082-02550/60 BOLT/NUT,TRACK SE350 M22 x1.5 x 67 (ตัวผอม) 

35 6Y 9024/9W 4381 BOLT/NUT,TRACK CAT330 
M22 x 1.5 x 22.6 x 67 (M22 x 1.5 x 31.4/31.2 x 22) SQR/
TAPER 




